

## On the Diophantine Equation $\frac{1}{x} + \frac{1}{y} + \frac{1}{z} = \frac{1}{n}$

Suton Tadee, Sudaporn Poopra

Department of Mathematics  
Faculty of Science and Technology  
Thepsatri Rajabhat University  
Lopburi 15000, Thailand

email: suton.t@lawasri.tru.ac.th, sudaporn.p@lawasri.tru.ac.th

(Received November 2, 2022, Accepted December 15, 2022,  
Published January 23, 2023)

### Abstract

In this paper, we study positive integer solutions of the Diophantine equation  $\frac{1}{x} + \frac{1}{y} + \frac{1}{z} = \frac{1}{n}$ . Using elementary methods, we show that if  $n = 1$ , then the equation has only the three solutions  $(2, 3, 6)$ ,  $(2, 4, 4)$ , and  $(3, 3, 3)$ . If  $n = 3$ , then the equation has exactly twenty one solutions, which we will write down explicitly. These results complement the result by Rabago and Tagle [3] who found the positive integer solutions in the case  $n = 2$ .

## 1 Introduction

In 2013, Rabago and Tagle [3] found all positive integer solutions of the Diophantine equation

$$\frac{1}{x} + \frac{1}{y} + \frac{1}{z} = \frac{1}{2}.$$

Later, Sándor [4] offered an elementary approach to the solution of this equation. In 2019, Pakapongpun [2] solved the Diophantine equation

$$\frac{1}{x} + \frac{2}{y} + \frac{3}{z} = \frac{1}{2}.$$

---

**Key words and phrases:** Diophantine equation, positive integer solution.

**AMS (MOS) Subject Classifications:** 11D61.

The corresponding author is Sudaporn Poopra.

**ISSN** 1814-0432, 2023, <http://ijmcs.future-in-tech.net>

In 2022, Srimud et al. [5] discovered all positive integer solutions of the Diophantine equation

$$\frac{2}{x} + \frac{3}{y} + \frac{4}{z} = \frac{1}{2}.$$

In the same year, Chinram, Sirikantisophon and Kaewchay [1] found all positive integer solutions of the Diophantine equation

$$\frac{1}{x} + \frac{2}{y} + \frac{3}{z} = \frac{1}{3}.$$

In this paper, we study positive integer solutions of the Diophantine equation

$$\frac{1}{x} + \frac{1}{y} + \frac{1}{z} = \frac{1}{n}, \quad (1.1)$$

where  $n, x, y$  and  $z$  are positive integers. Without loss of generality, we may assume that  $x \leq y \leq z$ .

## 2 Results

**Theorem 2.1.** *If the Diophantine equation (1.1) has a solution, then  $n+1 \leq x \leq 3n$ ,  $2n+1 \leq y \leq 2n^2+2n$  and  $3n \leq z \leq n^4+2n^3+2n^2+n$ .*

*Proof.* Since  $x \leq y \leq z$ , we get from (1.1) that  $n+1 \leq x \leq 3n$ . Then there exists a positive integer  $a$  with  $1 \leq a \leq 2n$  such that  $x = n+a$ . Therefore,  $y \geq n+a$ . From (1.1), we have

$$\frac{1}{y} + \frac{1}{z} = \frac{a}{n(n+a)}. \quad (2.2)$$

Thus

$$\frac{n(n+a)}{a} < y \leq \frac{2n(n+a)}{a} \leq 2n^2 + 2n.$$

**Case 1.**  $a \leq n$ . Then

$$2n = \frac{n(n+n)}{n} \leq \frac{n(n+a)}{a} < y.$$

**Case 2.**  $a > n$ . Since  $y \geq n+a$ , we have  $y \geq 2n+1$ .

By both cases, we get  $y \geq 2n+1$ . Now, we consider  $z$ . From (1.1) and  $x \leq y \leq z$ , we have  $3n \leq z$ . By (2.2), we have

$$\frac{1}{y} + \frac{1}{z} \geq \frac{1}{n(n+1)}$$

and  $n(n+1) < y$ . It follows that

$$\frac{1}{z} \geq \frac{1}{n(n+1)} - \frac{1}{y} \geq \frac{1}{n(n+1)} - \frac{1}{n(n+1)+1} = \frac{1}{n(n+1)(n^2+n+1)}.$$

Then  $z \leq n^4 + 2n^3 + 2n^2 + n$ . □

**Theorem 2.2.** *If  $n = 1$ , then the Diophantine equation (1.1) has exactly the three positive integer solutions  $(x, y, z) \in \{(2, 3, 6), (2, 4, 4), (3, 3, 3)\}$ .*

*Proof.* Since  $x \leq y \leq z$  and by (1.1),  $2 \leq x \leq 3$ .

**Case 1.**  $x = 2$ . From (1.1), we get  $3 \leq y \leq 4$ . If  $y = 3$ , then we have  $z = 6$ . Thus  $(x, y, z) = (2, 3, 6)$ . If  $y = 4$ , then we have  $z = 4$ . Therefore,  $(x, y, z) = (2, 4, 4)$ .

**Case 2.**  $x = 3$ . From (1.1), we obtain  $y = 3$  and so  $z = 3$ . Thus  $(x, y, z) = (3, 3, 3)$ . □

**Theorem 2.3.** *If  $n \geq 2$ , then the Diophantine equation (1.1) has at least five positive integer solutions  $(x, y, z) \in \{(n+1, n^2+n+1, n^4+2n^3+2n^2+n), (n+1, n^2+2n, n^3+3n^2+2n), (n+1, n^2+2n+1, n^3+2n^2+n), (n+1, 2n^2+n, 2n^2+3n+1), (n+1, 2n^2+2n, 2n^2+2n)\}$ .*

*Proof.* Suppose that  $x = n+1$ . From (1.1), we get

$$\frac{1}{y} + \frac{1}{z} = \frac{1}{n(n+1)},$$

and so  $(y - n(n+1))(z - n(n+1)) = n^2(n+1)^2$ . Since  $n \geq 2$ , there are five possible cases.

**Case 1.**  $y - n(n+1) = 1$  and  $z - n(n+1) = n^2(n+1)^2$ . Then  $(x, y, z) = (n+1, n^2+n+1, n^4+2n^3+2n^2+n)$ .

**Case 2.**  $y - n(n+1) = n$  and  $z - n(n+1) = n(n+1)^2$ . Then  $(x, y, z) = (n+1, n^2+2n, n^3+3n^2+2n)$ .

**Case 3.**  $y - n(n+1) = n+1$  and  $z - n(n+1) = n^2(n+1)$ . Then  $(x, y, z) = (n+1, n^2+2n+1, n^3+2n^2+n)$ .

**Case 4.**  $y - n(n+1) = n^2$  and  $z - n(n+1) = (n+1)^2$ . Then  $(x, y, z) = (n+1, 2n^2+n, 2n^2+3n+1)$ .

**Case 5.**  $y - n(n+1) = n(n+1)$  and  $z - n(n+1) = n(n+1)$ . Then  $(x, y, z) = (n+1, 2n^2+2n, 2n^2+2n)$ . □

**Theorem 2.4.** *If  $n = 3$ , then the Diophantine equation (1.1) has exactly the twenty one positive integer solutions*

$$(x, y, z) \in \{(4, 13, 156), (4, 14, 84), (4, 15, 60), (4, 16, 48), (4, 18, 36), (4, 20, 30), \\ (4, 21, 28), (4, 24, 24), (5, 8, 120), (5, 9, 45), (5, 10, 30), (5, 12, 20), \\ (5, 15, 15), (6, 7, 42), (6, 8, 24), (6, 9, 18), (6, 10, 15), (6, 12, 12), \\ (7, 7, 21), (8, 8, 12), (9, 9, 9)\}.$$

*Proof.* By Theorem 2.1, we have  $4 \leq x \leq 9$ .

**Case 1.**  $x = 4$ . From (1.1),  $(y - 12)(z - 12) = 144$ . Since  $x \leq y \leq z$ , we have the following subcases.

**Subcase 1.1**  $y - 12 = 1$  and  $z - 12 = 144$ . Then  $(x, y, z) = (4, 13, 156)$ .

**Subcase 1.2**  $y - 12 = 2$  and  $z - 12 = 72$ . Then  $(x, y, z) = (4, 14, 84)$ .

**Subcase 1.3**  $y - 12 = 3$  and  $z - 12 = 48$ . Then  $(x, y, z) = (4, 15, 60)$ .

**Subcase 1.4**  $y - 12 = 4$  and  $z - 12 = 36$ . Then  $(x, y, z) = (4, 16, 48)$ .

**Subcase 1.5**  $y - 12 = 6$  and  $z - 12 = 24$ . Then  $(x, y, z) = (4, 18, 36)$ .

**Subcase 1.6**  $y - 12 = 8$  and  $z - 12 = 18$ . Then  $(x, y, z) = (4, 20, 30)$ .

**Subcase 1.7**  $y - 12 = 9$  and  $z - 12 = 16$ . Then  $(x, y, z) = (4, 21, 28)$ .

**Subcase 1.8**  $y - 12 = 12$  and  $z - 12 = 12$ . Then  $(x, y, z) = (4, 24, 24)$ .

**Case 2.**  $x = 5$ . From (1.1), we get

$$\frac{1}{y} + \frac{1}{z} = \frac{2}{15}. \quad (2.3)$$

Since  $x \leq y \leq z$ , we have  $8 \leq y \leq 15$ .

From (2.3),  $(x, y, z) \in \{(5, 8, 120), (5, 9, 45), (5, 10, 30), (5, 12, 20), (5, 15, 15)\}$ .

**Case 3.**  $x = 6$ . From (1.1), we get

$$\frac{1}{y} + \frac{1}{z} = \frac{1}{6}. \quad (2.4)$$

Since  $x \leq y \leq z$ , we have  $7 \leq y \leq 12$ .

From (2.4),  $(x, y, z) \in \{(6, 7, 42), (6, 8, 24), (6, 9, 18), (6, 10, 15), (6, 12, 12)\}$ .

**Case 4.**  $x = 7$ . From (1.1), we get

$$\frac{1}{y} + \frac{1}{z} = \frac{4}{21}. \quad (2.5)$$

Since  $x \leq y \leq z$ , we have  $y = 7$  and so  $z = 21$ . Then  $(x, y, z) = (7, 7, 21)$ .

**Case 5.**  $x = 8$ . From (1.1), we get

$$\frac{1}{y} + \frac{1}{z} = \frac{5}{24}. \quad (2.6)$$

Since  $x \leq y \leq z$ , we have  $y = 8$  and so  $z = 12$ . Then  $(x, y, z) = (8, 8, 12)$ .

**Case 6.**  $x = 9$ . From (1.1), we get

$$\frac{1}{y} + \frac{1}{z} = \frac{6}{27}. \quad (2.7)$$

Since  $x \leq y \leq z$ , we have  $y = 9$  and so  $z = 9$ . Then  $(x, y, z) = (9, 9, 9)$ .  $\square$

## Acknowledgements

The authors would like to thank reviewers for careful reading of this manuscript and the useful comments. This work was supported by Research and Development Institute, Thepsatri Rajabhat University, Thailand.

## References

- [1] R. Chinram, K. Sirikantisophon, S. Kaewchay, Positive integer solutions of the Diophantine equation  $\frac{1}{x} + \frac{2}{y} + \frac{3}{z} = \frac{1}{3}$ , *International Journal of Mathematics and Computer Science*, **17**, no. 3, (2022), 1051–1059.
- [2] A. Pakapongpun, Integral solutions of the Diophantine equation  $\frac{1}{x} + \frac{2}{y} + \frac{3}{z} = \frac{1}{2}$ , *Mathematical Journal by The Mathematical Association of Thailand Under The Patronage of His Majesty The King*, **64**, no. 699, (2019), 36–43.
- [3] J. F. T. Rabago, R. P. Tagle, On the area and volume of a certain regular solid and the Diophantine equation  $\frac{1}{2} = \frac{1}{x} + \frac{1}{y} + \frac{1}{z}$ , *Notes on Number Theory and Discrete Mathematics*, **19**, no. 3, (2013), 28–32.
- [4] J. Sándor, A note on a Diophantine equation, *Notes on Number Theory and Discrete Mathematics*, **19**, no. 4, (2013), 1–3.
- [5] K. Srimud, N. Makate, T. Ampawa, T. Jantree, On the Diophantine equation  $\frac{2}{x} + \frac{3}{y} + \frac{4}{z} = \frac{1}{2}$ , *Progress in Applied Science and Technology*, **12**, no. 1, (2022), 11–16.